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1. *Familiarity: Rate your familiarity with the topic of the paper.
 Truly expert in this area of research
 ** Working in this area of research
 Familiar with this area of research
 Very limited expertise
 Zero knowledge
2. *Relevance to the track and timeliness: Rate the importance and timeliness of the topic addressed in the paper within its area of research. 
Excellent
** Good
Acceptable
Little
None
3. *Technical content and scientific rigour: Rate the technical content of the paper, its scientific rigour and novelty.
Excellent work and outstanding technical content.
Solid work of notable importance.
** Valid work but limited contribution.
Marginal work and simple contribution.
Questionable work with severe flaws.
4. *Quality of presentation: Rate the paper organization, the clearness of text and figures, the completeness and accuracy of references.
Excellent.
Well written.
** Readable, but revision is needed in some parts.
Substantial revision work is needed.
Unacceptable.
5. *Overall evaluation: Please judge whether the paper should be accepted or rejected
[bookmark: _GoBack]Accept
** Weak accept
Borderline paper
Weak reject
Reject
6. *Best Paper Award: Candidate for Best Paper Award?
** Non
Yes
7. Comments to the author: Summarize the strengths and weaknesses of the paper. Provide a rationale for your rating, and suggested improvements (if appropriate).
The paper presents a optimization algorithm for splitting a virtual network among multiple Infrastructure Providers. The proposed algorithm is a heuristic for solving the BQP model of the VNS problem.
A doubtful point into the problem model is the convention of the cost of links. The paper proposes that when there is no link between physical nodes, the cost should be set to 0. However, this procedure seems to force the optimization function to use these links that do not exist as the total cost is proportional to link costs. This point should be better explained in order to avoid any misunderstood.
Another unclear point is the comparison of the results. When comparing the proposed algorithm with MALAB Benchmark and the CPLEX, is it fair to compare computation time of a MATLAB routine with a C++ compiled program? The Proposed Heuristics is implemented in C++ or MATLAB? What is the MATLAB Benchmark?
A possible suggestion is to evaluate the proposed heuristic to a greater scenario. Does it scale for greater VNs? And for more InPs?
The Related Work section should discuss some works about mapping VNs into physical resources, because this problem is related to the VNS problem.
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